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QUESTION 1

The SAS Data Integration Studio SCD Type 2 Loader transformation performs which of the following? 

A. Loads source table records into a standardization table. 

B. Loads dimension table records into a fact table. 

C. Loads source table records into a dimension table. 

D. Loads fact table records into a multi-threaded table. 

Correct Answer: C 

 

QUESTION 2

Which statement correctly defines a System DSN? 

A. Not specific to an individual user. Anyone with permission to access the data source can use it. 

B. Specific to an individual user. It is available only to the user who creates it. 

C. Not specific to an individual user. It can be shared among users even though it is created locally. 

D. Specific to an individual user. But it can be shared among users. 

Correct Answer: A 

 

QUESTION 3

When using the Table Loader transformation in SAS Data Integration Studio to update an existing table containing
indexes or constraints, which statement is true? 

A. You can control the removal and/or creation of indexes and constraints in the target table only if you are using a Load
style other than Replace. 

B. You can control the removal and/or creation of indexes and constraints in the target table for all Load Styles. 

C. If using the Append to Existing load style, indexes and constraints can be added but not removed. 

D. For the Update/Insert load style it is possible to remove indexes not required for the Update/Insert processing, but no
indexes can be added. 

Correct Answer: B 

 

QUESTION 4

Consider the job flow diagram in the display. Assume the inner job has a parameter defined specifying a table name.
Which statement is FALSE? 
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A. The Inner Job can be successfully executed by itself, but only if the defined parameter has been assigned a valid
default value. 

B. The Inner Job cannot be successfully executed by itself unless it is disassociated from the loop job. 

C. The Control Table column is mapped to the parameter defined for the Inner Job using the Loop transformation
properties window. 

D. If the server that executes the job has multiple CPUs, parallel processing can be enabled in the Loop transformation
properties window. 

Correct Answer: B 

 

QUESTION 5

The SAS Data Integration Studio SCD Type 2 Loader transformation can do which of the following? 

A. generate cpu statistics 

B. generate a datetime value 

C. generates cluster numbers 

D. generates standardization values 

Correct Answer: B 
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